H & 0l & AHS B Ml A

FA 2gH
3 0 ok MEIA HS(2dH)
el s=EH0 24U 29 (SH9 H2)
A -3 - GRA(3) - ARAY - BES Ofl &2y I3 ] ImE=r",
2gH 1,797,005 1,710,306 86,700
Fol o= AHIA IS (2EY) 351,825 351,825 0
SN0 24H 23 351,825 351,825 0
dY2Y & Ael(ELY) 113,866 1,711 2,155
101 21=21b 31,023 43,868 A12,845
M 1N 22 RS2+ 31,023 43,868 A12,845
O=E323s ZIAXE(N=HY) U2Y
338 6,3%,000& 6,3% 7,6% 1,301
OZS-3dURZ 22Xxd 28Y
38 02 0 5,772 Nb,T72
O=d ofdd M=XY 7Y
34 02 0 5,772 N5, 772
401 AlZHIZ 2] 25,000 10,000 15,000
01 A2 25,000 10,000 15,000
O3 otdd =SHA & 22 24 15,000 0 15,000
SSAE & 3Hl RAA(2LEH) 77,709 79,864 A2,155
(O elal] 27,245 29,400 A2,155
M IRINZZ2NSE s 27,245 29,400 ~2,155
OZ&dsd FHIE 2 NEAHY =Y
23 03 0 2,155 A2,155
=S g (24H) 1,187,600 1,122,600 65,000
ZEAE NN (L) 1,187,600 1,122,600 65,000
A2 FOU=IAAL(ELH) 1,040,000 1,010,000 30,000
401 A& HIZL R HH 1,040,000 1,010,000 30,000
01 Al 1,040,000 1,010,000 30,000
O=d nt=duI(14) 23 02 0 30,000 30,000
OAHE Or=EHI(1A) 34 03 0 30,000 A30,000
OAI= 0122t OtA 2 XA 2] (L=200m)
23 49,245,000 49,245 30,000 19,245
OHIS cctvERI(141) 23 11,000,000 11,000 20,000 29,000
OHl= s2ZZ(L=150m) 23 02 0 25,000 A25,000
Otl= A& ZdI(L=100m) 34 03 0 30,000 A30,000
Otl= Bi==2 ZH8I(L=100m)
23 10,672,000 10,672 30,000 ~19,328
OH 4 DS OtAZS M D] (L=100m)
23 03 0 20,000 220,000
Ozt Hi===2 ZHI(L=90m)
4% 6,438,000 6,438 20,000 13,562
OZ &t M ZHI(L=80m) 34 03 0 25,000 A25,000
Oy 0=t 0tA 2 M 2 I](L=00m)
23 29,466,000 29,466 20,000 9,466
Ol# == & =2 FHI(141)
23 03 0 30,000 A30,000
O8=2 s2EZ(L=100m) 34 03 25,000 A25,000




2N B
M FOIMOIZA KN (2D
el PEUE NSNS (RLH) (Crel ® )
M- SA(3) - MRAY - BES Ofl &kl I & A Hlwsz
OB SIIAFAREE(14]
Z8 25,833,000& 25,833 15,000 10,833
OXIZ o222 F I (L=1o0m)
Z8 26,390,000& 26,390 20,000 6,390
O A cotvA X1 (141) g3 o 0 20,000 20,000
OEE =2 34I(L=80m) 438 0& 0 20,000 220,000
Osts cotvEXI(141) B8 24,523,000& 24,523 20,000 4,523
OXHES DrE238I1(14)
438 18,970,000& 18,970 20,000 21,030
OZE ZFAXHAX(14]) 28 0 0 30,000 A30,000
OALE =2 &(L=100m) 438 0& 0 30,000 A30,000
OO0IZ DSt 0FA 2SI M 21 (L=100m)
38 36,359,000& 36,359 20,000 16,359
ORAL LEFBANSIRUEAX|(14])
38 0& 15,000 215,000
O2AF B2 8! (L=100m) 23 0 20,000 220,000
O3S Hiz=2FH|(L=100m)
d3 7,391,000 7,391 30,000 A22,609
OUS Bi==238I(L=100m) ZE 02 0 20,000 20,000
OAF w24 (14]) 38 0& 0 20,000 A20,000
O2AS OISO T ANOA BT M 2| (L=200m)
23 0& 0 30,000 A30,000
O ti2=23dI(L=80m)
ZE 16,592,000& 16,592 20,000 A3,408
O1g =24 XI(L=150m)
4% 7,600,000 7,600 20,000 A12,400
OZA 2UHE2ERD|(L=6km)
4% 15,124,000 15,124 60,000 A44,876
O3 ¥ XIYHAXI (14
Z & 18,800,000& 18,800 20,000 A1,200
OLAZAIEES(14])
43 23,600,000& 23,600 30,000 26,400
OFY MYL=2Z2XH A X (L=1km)
38 146,343,000 146,343 100,000 46,343
OFY BRAXZHEXISA a3 o 0 50,000 250,000
OYUAIEHe|EHIS A 6,440 0 6,440
OAHE CCTVE XIS At 7,150 0 7,150
Otl=2 AMHEHIS A 30,438 0 30,4338
Otl= SH&XIZA 30,760 0 30,760
OEHA === ZHISAt 10,000 0 10,000
Oz =2 ETUH=2FZHIS A 24,305 0 24,305
OLHA AFHEHIS A 11,400 0 11,400
O3 s2EEYI==2 HUISAt 27,274 0 27,274
Od4t 2SI FREXSAL 19,981 0 19,981
O ATANE=4XSA 9,641 0 9,641
OZE sZEESAL 30,000 0 30,000




S Bee
Ha: FOIBMOISA KN (& SE)
Eel: PEUs NN (RLH) (CHe: )
A -3 - GRA(3) - ARAY - BES Ofl &4 I3 ] ImE=r",
OA2E OtAZTM IS AL 51,721 0 51,721
A SZEEZA} 16,566 0 16,566
OUS AtEHIZHISA 78,358 0 78,358
OUS CCTVE RIS A 24,318 0 24,318
2 SEZHIEYSA 16,571 0 16,571
O4 HYTZZBEHLIIBAIL 121 AAl
g2AHEg 7,180 0 7,150
OUS AMEIHISAIS32 AAIE2HES 7,940 0 7,940
OHIT AMHEHISAIS3H 2AIEAHES 5,920 0 5,920
OALY =2 ZHIS Al 13,440 0 13,440
OBl= AMtEHEHISA 36,192 0 36,192
OXl= Ut=E2+3At 7,801 0 7,801
O&S OA2RMRIISAL 7,298 0 7,298
OUd Bi==EXISA 9,990 0 9,990
OHl= M&EZHISA 30,000 0 30,000
2 E |AL(EHY) 147,600 112,600 35,000
201 Let=Ehl 72,600 57,600 15,000
2 s=5=34l 72,600 57,600 15,000
oJlzs &les a4 72,600,000 72,600 57,600 15,000
401 AIZHIX 20HH 75,000 55,000 20,000
01 AlZ28| 75,000 55,000 20,000
Os&t2s =AE=x
d&d 75,000,000 75,000 55,000 20,000
HY2HIHI(2E) 257,580 235,880 21,700
olERAHH|(FAH) 160,900 140,600 20,300
IAHI(2EH) 160,900 140,600 20,300
101 212A4H| 160,000 140,000 20,000
03 SRA(RIH )22+ 160,000 140,000 20,000
OetZ0lsHa 160,000 140,000 20,000
-1 (3Y) &3 160,000,000 160,000 140,000 20,000
201 Zet2d] 900 600 300
01 AlR2telHl 900 600 300
Oul=H| 900 600 300
-2g0l=td U=
48 300,000 x3&*12] 900 600 300
[=ZHI(24H) 96,680 95,280 1,400
JlEZe(24d) 96,680 95,280 1,400
201 er=3| 30,652 29,252 1,400
01 At22t2l] 25,732 24,332 1,400
OJl=sgtl dd 4,472,0002 4,472 3,072 1,400




